DIRECTORATE OF SCHOOL EDUCATION
TAMILNADU

11INPCBO7 | NEET PRACTICE QUESTIONS | “** %
(2023-24) (TEST-7) Total Marks: 240
General Instructions:

1. The test is of 1.15 hrs duration and consists of 60 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. If the magnitude of two vectors are 3 and 4 and
magnitude of their scalar product is 6, what is the
angle between the vectors?

A) 30° B) 60° C) 45° D) 90°
@ revor(h) Qeus L [FaerleoT eTevorlnSHILIL] 3 LoMHmILD 4
LOMMILD {5607 VECSHEVTH G\LI[HE 860607 IDGHILIL| 6
6Teof 16V 2B @\ TevoT(h Q6UE L T&HEHEE @)L Gl
9 66T G&5IT6U0TLD 6T60T60T?

A) 30° B) 60° C) 45° D) 90°

2. A body of mass 100g moving on a test track has
final KE of 50] after travelling a distance of 10cm.
Assuming 90% loss of energy due to friction, find

the initial speed of the body

A) 100 ms™! B) 10 ms™'

C) 1000 ms™! D) 500 ms!
R CoFmgamer FLEFH 100g Hlenm G &mesorL
@ QUT6T 10 cm Q&HMeM6eVe| HSHIHL CUMS!

5T @MIFH @QUISHE MM6L 50 J. 90% MMV
o Fmuledler epevlnms: @Las&LILBGSHMS ereflev
b6 QUTH6Tler QST &8 GeussLD 6T6oT60r

A) 100 ms™! B) 10 ms™!

C) 1000 ms™! D) 500 ms™!

3. A uniform force of (31+]) newton acts on a particle
of mass 2 kg. The particle is displaced from
position (21+k) meter to position (41+3j-k) meter.
The work done by the force on the particle is

A) 10J B) 13J C) 15J D) 9J

em Fgmer (3it)) mplulLear ellemdF 2kg
Blemmujemer @ GMILLILL Qumetfler Lis
QFWeLLIKHBME. ABS QummeT (2i+k) ST
Blemeuwled®mba  (4i+3j-k) WBSLLT Bleneuss
@LLOUWTRMS! 6revflev 3ib& QUTperfler Lg!
QFWWLILGILD Galemev.

A) 10J B) 13]

C) 15J D) 9J

4. A body of mass 10 kg moves with a velocity of
2 ms! along a circular path of radius 8 m. The

power produced by the body will be
A) 10 Js! B) 49 Js!
C)98 Js! D)0

8 m QLTIN6Tem eIl LLILmenguiley ma&@mID 10 kg
TB16D ML 6ITEIT 62(IH QLI MT([H 6T 2L5/6)) &) 6tV &F B 61 & & F) 6V
QFLHIMS 6eTerflel B QLIMTIHET 2 (HEUTEHGLD
) (D 60T T6OTS)

A) 10 Js!
C) 98 Js'!

B) 49 Js'!
D)0

5. A body of mass m was slowly pulled up the hill
by a force F which at each point was directed
along the tangent of the trajectory. All surfaces are
smooth. Find the work performed by this force.
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A) mgl B) zero C) —mgl D) mgh
m Blemm Q&HMeoTL  QUITIHET 660TMI 560
QUW&HEL LMengWiler gjemers gl Leerflaserflewin
QETRHCHETL(H Hemsuley QFweLI(bhD. F eredrm
aflemguiermey  @QUSHSIF QFLLILIGSEMSI.
LUMend  aUelpLliLimergl  ereflev  ellem&imey

QWL L Gelemev

A) mgl B) zero C) —mgl D) mgh

6. A bullet when fired at a target with a velocity of
100 ms™', penetrates one metre into it. If the bullet
is fired with the same velocity at a similar target
with a thickness 0.5 m, then it will emerge from it

with a velocity of

A) 50 ms™! B) 10 ms™'
C) 50/72 ms™! D) 50V2 ms!
100ms™ FensFGelsH 55 6v &L LI

GHMLLM eeTm @euHHer 2 6TG6aT 1 LSLLIY
oar (el  QFLHME. 05m HIQLDET 2 6T6rT
6B GUMITMRASTH GevsHeaT WEH IbHS
GHITLLMeUT6OTS 9165 FenFCeUT S H 6V
GLUULLT, <bs GCHTLLT  GeueflGumilbd
FHensGeaussL.

A) 50 ms™!
C) 50/2 ms!

B) 10 ms!
D) 50\2 ms™

7. A man weighing 50 kg climbs a stair case carrying
20 kg load. The stair case has 40 steps, each 25
cm high. If he takes 10 seconds to climb, the work
done is (g = 10ms=)

A) 500017 B) 700 J

C) 6000 J D) 10000 J

50 kg mlemmuwleTem @ Loeoflger 20 kg
Blemmenll &ObHG Q&meoor(h) LG &8 1q 60T
1S g & Q& 6L G M 6T, LY &L L TeoTg!
626UGIAUMEOTMILD 25 cm 2_WITLPemL Ul 40 LI &H6eD6rT
Q&EMETITL G, HS eflGer GG gmiausm&S
10 eI &H6T 6T(HH GG Q8 TEvoTLIT60T 61601160
QFWWLLL Gauemev (g = 10u5/612)
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A) 5000 J B) 700 J

C) 6000 J D) 10000 J

8. Velocity-time graph of a particle of mass 2kg
moving in a straight line as shown in figure. Work
done by all the forces on the particle is :

A v(m/s)
20
> > £(S)
A)2001)J B)-2001J
C) 400 J D) 400 J

GBIFCSHITL(H LI LTS U 6L 58 ([HLD 2 kg IBlem MU 6T6r
@M urmeflar HangGasld -  &HMeVld
QTLLLD ULEHO QHTHESSLILL(DETTS.
3bs QUM T 58 SemarsH g alendFsEHLd
Q&FUILLD Geuemev.

A v(m/s)
20
> > £(S)
A)20017J B)-2001J
C) 400 J D) 400 J

9. Force acting on a particle moving in a straight line
varies with the velocities of the particle as F = K/v.
Where K is constant. The work done by this force
in time t is

A) Kt B)Kt C) 2Kt D) 252
\'%
GHIGHETL(RL  umemsuiley  BHOGBL R0

Qumerfledr Ws QFwWeLRLD ellenaFwmers
IHS QUM HemsFGalssamaLl QLIMTMISSI
F= K/v DmmiLih&mal. @@ K ererigl ommled.
t BTV @b allemFumy QauiwlurL
Geuemev

2K

C) 2Kt D) <3

A) % B)Kt



10. A body is initially at rest. It undergoes one —
dimensional motion with constant acceleration.
The power delivered to it at time t is
proportional to

A)t B) t? C)t? D) t"?

QBTLEHSFE) (h QLITIHET 6UI6] Blemevuiey

o etengl. Ermer WWHHHEH6L B QUITIHET

@@m ufliomear @UESESEHNG 2 L LUGRMmS.

t HTVSH L HS QUTIHEHHEGS 6UPMHIGLILIHLD

B\6T e15HG CHISS S QBEHGSLD

A)t B) C) D)t

11. A body of mass 4 Kg is moving with momentum
of 8 kgms™'. A force of 0.2 N acts on it in the

direction of motion of the body for 10s. The

increase in kinetic energy is
A)101J D)4]

B)85J  (C)45]

4 Kg BlemmUW6TeT 62(h GILIMH6T 8 kgms™ 2 155556V
B&HMHHMS). 0.2 N allen & WITeoTSI 215G GLIMH6rfledr
Sa  Qum@meT BHGL Hevgullev 10s-6&
QFWeLLIHH M 6T6vfl6L @UIGE QLMMEL 2 _IT6)

A)10]  B)8.S5J

C)45]  D)4J

12. A force F acting on an object varies with distance
x as shown in the figure. The work done by the
force in moving the object from x=0 and x=20

m is
* A
100
Z 7t
= 50t
25+
0 1 Il 1
5 10 15 20
x(inm) —3p
A) 1000 J B) 2000 J
C) 5007 D) 1500 J

QUMBET eetTMledT 58I QFWOLMLD ellens F 3 60ral
QSMTEMEVE] X 83 QUIMTHSS! LILSH60T &ITLLY.U|6Temelmm
LTRUGE M. x=-00060 BB x=20 L5-8& QLIT[HEMET
B&HIHS C&F WL GeuevorqUl GeUemevUl 6Tl

A
100
751
50t
251

F(inN) —3p»

5 10 15 20
x(inm) —3p

A) 1000 J B) 2000 J

C) 500 J D) 1500 J

13. Water is flowing in a river at 2 ms™'. The river is
50 m wide and has an average depth of 5 m. The
power available from the current in the river is
(density of water = 1000 kgm™)

A) 1 MW B)2 MW

C) 1.5 MW D) 0.5 MW

B eeTmlev 2 ms' eTedTm jeTellel & evorevot [
UmTWSmg. @bs BH 50m &V
FrmgFfllmg 5m QU Q& meooTLSl. BSH U6t
HEImLLGHermev HemL&GWm Hmeor  (Hifleor
SILTSSH - 1000 kgm3)

A) 1T MW B) 2 MW
C) L5 MW D) 0.5 MW
14. The sun radiates energy at the rate of

3.77 x 10% Js™'. The loss of mass it suffers per
second is

A)41.9 x 10°kg B) 1.29 x 10" kg

C)41.9x 108 ¢ D)1.29x 10" g

Giflwer  3.77x10%)s'  eaeorm RS HFH 6V
MMMV Q&TH &R MG 6T6vfl6L 62(IH el 6ot mIq.ull6L
2160 blemmuiley UG @)Ll

A)41.9x 10° kg B) 1.29 x 10" kg

C)41.9x 10% g D)1.29x 10 g
15. Two bodies of masses 4 kg and 5 kg are moving
with equal momentum. Then the ratio of their

respective kinetic energies is
A)4:5 B)1:2

C)5:4 D)2:1

4 kg LDMMILD 5 kg BlemmueTeT @H GILIMIH6TE6T

FID 2 HhSHHIL 6T HHIHHETMET 6Tev 160 860

@W&HSH MHMeLG&6TleT GG (WenmEL
A)4:5 B)1:2

C)5:4 D)2:1
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CHEMISTRY Q.No. 16 to 30

16. The pair of elements that have similar chemical
properties are

A) Beryllium and Boron

B) Lithium and Magnesium

C) Carbon and Nitrogen

D) Aluminium and Magnesium
BLDESHETL 6THE @ Uevor(h SHeofllnmIsG6T 6Gr
GeuBL1LI6voTem LI QLM M ([H& & LD0?

A) QuUfleSlwid WMo GUITmTedT

B) 915 WD IDMHMILD GILN&60TE UILD

Q) SITFLGOT LDMMILD 60IHL_[J 60T

D) osvidleoflild LoMMID QL& eof & Wil
17. Metals having ns' as the valence electronic

configuration

A) Have a first ionization potential of more than
10 ev / atom

B) are highly electropositive

C) are highly electronegative

D) Act as strong oxidising agent
ns' @) 6MEOOTHMEIT  6TELEL TG  SjemLnLlemLl
QUMMEm6U

A) (10S6V | WesfIWIME G LD QL MHMeL 10ev /i 6001-83
L S &0

B) 2135 GBI SremLnU|em L 2Uleor]
Q) 5 & TH IO GemnU|6m LU 3fulevf]
D) cuedlemn aUMilIbB S 2,86r16G6TMM &IMyevof]

18. The metal that dissolves is liquid ammonia,
giving a dark blue coloured solution is

A) Lead
C) Sliver

B) Tin
D) sodium
BI55 bGmmellwmeale) &b SILTHS Hev
BN HNTFMVE SH(IHLD 2 CeVMELD 6TS1?
A) Qv B) L9 60T

Q) Aeveuy
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D) G&FMIQ.WILD

19. Which of the following reaction occur at the
anode, in the Castner process of extracting
sodium metal

A)Na'+¢e” — Na

B)40H — 2H,0+ 0, +¢°
C)H. — 2H +2¢°

D) 2C1" — Cl, +2¢°

STV (enmUie GEFMIgUID 2 GGG Ll
Nfs0s0556060  CrIWleraumuiley  BlHWLD
6l 6oT 6TEOT6OT?

A)Na'+e° — Na

B) 40H  — 2H,0+0O,+ e’

C)H. — 2H" +2¢°

D) 2C1" — Cl,+2¢°

20. Oxone is

A)Na,O, B) MgO

C)NO D) CaO
2,8 G6rVITE0T 6T60T LIS

A) Na,0, B) MgO

O N,0 D) CaO

21. What are the products when Li,CO, undergoes

decomposition?
A) LIO+CO, B) Li,0+CO
C) Li,0,+CO D) Li,0+CO,
Li,CO, &emgeauemLujld GUTE HOLEGLD
6 ETQ LIMT(HEIT 6T60T60T?
A) LiO,+CO, B) Li,0+CO
Q) Li,0,+CO D) Li,0+CO,

22. The correct order of the mobility of the alkali
metal ions in aqueous solution is

A)K">Rb">Na">Li"
B) Rb">K">Na">Li"
C)Li" >Na">K">Rb"
D) Na®>K">Rb*> Li"



SITT 2_Ceus 3 Wenfl&e6T BIs senFedlev HoHLD
Seoremnuiletr euiflemnd

A)K*>Rb*>Na* > Li*
B) Rb* > K* > Na* > Li*
C) Li* > Na*>K* > Rb*
D) Na* > K*>Rb* > Li*

23. Which of the following statement is incorrect?
A) Al reacts with excess of NaOH to give AI(OH),
B) NaHCO, on heating gives Na,CO,

C) Pure Na metal dissolves in Liq. NH, to give
blue solution

D) NaOH reacts with glass to give sodium silicate

GLp 2 eTemaumnilev 6T%H HEUMITET Fo MM

A) Al 9155 966 NaOH 2 Ler ellement L fl b
Al(OH), 8 Q&THI&EHME!.

B) NaHCO, &3 GQeuliLlIL@SSID Gumg Na,CO
ROLEHR M.

3

C) SITULI6D)LO I IT60T Na 2_GeuIssLh B
SCwmeflwmalley  Henygbg  Hev  BIM

FHOTFMVS &HHR M.

D) NaOH  &evorevormiqujLedr  aflemeorL|flb &l
GFmeuwld Hel&CEHELMLE SHHRMG.

24. Consider the following statements:

1. Cs" ion is more highly hydrated than other alkali
metal ions.

2. Among the alkali metals Li, Na, K and Rb, Li has
a higher melting point

3. Among the alkali metals, only Li form a stable
Nitride by direct combination
A) 1 and 3 are correct
B) 2 and 3 are correct

C) 1, 2 and 3 are correct

D) 1 and 2 are correct

BLDHTEOVID FoMMIFHEM6T &([HHFH 6V Q& T6TS.
1.Cs*  Qwesflwmenrg MM &MY 2 Ceumd
SjWwenflsemneT el AH & BCFMHMLID QUHMS!.
2.Li, Na, K wmmib Rb GuUmeTm &MY
2 CounmsmisGafley Li 91H& 2 (H& blenevem L

QUM MIGTENS.

3.5My 2 Ceumasmigefley Li Il (HGLD Blemevul meor
B emnTemnL 2 _600T(h LI6U0TETDILD

A) 1 ommild 3 &yl
B) 2 LnmmiLh 3 &ifl
Q) 2,1 nmmid 3 &ifl
D) 1 Lnmmitd 2 &ifl
25. A greenish yellow gas reacts with an alkalimetal
hydroxide to form a halate which can be used

in fire works and safety matches. The gas and
halate are

A) Br,, KBrO,
C) L, NalO,

B) CL,, KCIO,
D) CL, NaClO,

LG &H6VH&ES LDEHF6T BIM  eumuy, &Iy
2 Gus el gresmFBHLeT  ellemeTLL (B
MM GeVL_(h &H6m6T 2 (HUTEHGHMSI. @3l
merGall) HemSGefIan mmin HHGFF
swurflidab  LweaTUGHDS. HS Ty
WML eMTCVL(H&ET (LLemMEUI

A) Br,, KBrO, B) Cl,, KCIO,

Q) 1, Nalo, D) Cl,, NaClO,

26. The paramagnetic species are
A) KO, B) SiO,

C) TiO, D) BaO,

LITTT &MTH& &H6e0T60 0|60 LIS

A) KO, B) SiO,

O Tio, D) BaO,

27. Based on Lattice energy and other consideration
which one of the following alkali metal chlorides
is expected to have a highest melting point.

A) LiCl B) KCl

C) NaCl D) RbCl

L& Fal MMV MM MM  LI6OOTL|S6T
QLI UL &M 2 Ceus GGermenT(H&6rflev

75 B & 2_(H&He06V G\&T6voTLSI?
A) LiCl B) KCI

C) NaCl D) RbCl
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28. In Nacl, the chloride ions occupy the place in a

fashion of
A) bee B) fcc
C)Both A & B D) none

GFMQWLD GCemmemnT(h LN HSH 6V &CaTmen T
Sjwell eTH S lFHSHS 60 MBS (B G D?

A) bcc B) fcc

C) A & B @revor(h\Lh D) eT&le|Lil6vemev

29. Which one of the following reaction is not
associated with Solvay process of manufacture
of sodium carbonates?

A) NaCl + NH,HCO,— NaHCO, + NH,CI
B) 2NaOH + CO, — Na,CO, + H,0

C) 2NaHCO, — Na,CO, + H,0 +CO,

D) NH, + H,CO, — NH,HCO,

BLEHHETL THS ellemeT FTeGal (nemmuiey
GFMIQUILD SMyuGCeoTL. SWmiflg 56960
LwesTLI(h euS evemnev?

A) NaCl + NH,HCO,— NaHCO, + NH,Cl

B) 2NaOH + CO, — Na,CO, + H,O

C) 2NaHCO, — Na,CO, + H,0 + CO,

D) NH, + H,CO, — NH,HCO,
30. The increasing order of ionic character of CsF,

Lil, NaBr and Kcl is

A) CsF <Kecl <NaBr < Lil

B) NaBr < Kcl < Lil < CsF

C) Lil <Kcl < CsF <NaBr

D) Lil <NaBr <Kcl < CsF
CsF, Lil, NaBr wmmib KCI @eumnilet <juwlenfls
Seotennenl gmialflenguilev eTpsis

A) CsF < Kcl < NaBr < Lil

B) NaBr < Kcl < Lil < CsF

Q) Lil < Kcl < CsF < NaBr

D) Lil < NaBr < Kcl < CsF
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BIOLOGY (BOTANY) Q.No. 31 to 45

31. Family Fabaceae differs from Solanaceae and
Liliaceae. With respect to the stamens, pick out
the Characteristics specific to family Fabaceae
but not found in Solanaceae or Liliaceae.

A) Monoadelphous and Monothecous anthers
B) Epiphyllous and Monothecous anthers
C) Diadelphous and Dithecous anthers

D) Polyadelphous and Epipetalous anthers

SCUGUT &OLUS &ITEUJ M1 & 6IT
QEFMeLITCeoTH) DM MILD 696V WIS
GSOWUS  sTarmiseledmbs  Ceaumil (k)
Smeoor LGSR S N&ETHSHS & TeiTss 6rfl 60T
3q LiemnL_ulev QFmeLMTGeTd LDMHMILD
OlelCWE GO UmSeTflev  Smeror LTS,

QLETTEY, SCLICLIE GMHWUSH 6 &mevorLiL(hD
GO L LeorLlemerr CGHTHOS®M).

A) @@ SDHD W&EIHSSHSTET WOHDID 6
DL 6V ID&HTHSLI6mLI

B)Lellsld  @Lqul &THSSSTET  HmID
6(IHLOL 6V DS T HSL160ILI

C) @& HenMm D& THSHS S MeT DMHMID

@ (BLOL 6V ID&THSLI60L
D) LIL&BMENM LO&THSHSHSTET LDMMID {6060
QLU LD&THSSST6T

32. Match the column I with column — II
List—1 List—1I

2) %, 9. K Cpin Agys G

12+, oy G 1) Brassicaceae

b) B, ¢.K,,C A, G, ii) Liliaceae

¢)Br,®, 7, P(m), A .G

33 O iii) Fabaceae

d).9.K,,.C,. A, G, iv) Solanaceae

a b c d

A) iv i 1 il
B) iii v i 1
O 1 i il v
D) i il v 1



UG | 8 UGS II-60T QUITHSSI5:

UGS | LSS I
)%, 9. K Clin Apep G ) LpTeiiGsE
b) @, F, K, Cs) " Ay G i) 6916VEIGWIE)
oBr,®, ¢, P(3+3)> A, Q(3) i) *CUGCUE

@, 9.K,,,C,A,,.G, iv) Q&FMeLTGeTH

a b o d
A) v ii i iii
B) iii iv i i
Q) i i iii iv
D) i iii iv i

33. Tricarpellary, syncarpous gynoecium is found in
flowers of

A) Fabaceae
B) Poaceae
C) Liliaceae

D) Solanaceae

d&HGOILGS STl DeIserle) eeTml @evs
Q) EEVEHEETU DL @)60600THS @6V QUL L LD
&meoor LIS MG

A) &GUGUT)

B) GUTCW®

C) e9levedIGW

D) Q& meumGeor&

34. Tetradynamous conditions occur in the family
A) Cruciferae
B) Malvacae
C) Solanaceae

D) Liliaceae

QLLIIMTQ60TLO6 6U60)& &ITevor LILI(HIWD & (H\LDLLD
A) GHFROUSCT
B) LDMeLBeu
Q) Q&EmevTGeorH
D) 65l6LeSIGWH)

35. The correct floral formula of chilli is

B) ®,9. K, Cy Aup Gy,

C) @, 9. K, Cip Ay Gy,

D) @9 g‘: K5 CSAA(S), Q(z)

Wemasmulledt (Chilli) &flwimesT VTGS S TLD.

A) @7 g‘) K(s) Cs’ A(s)) Q(z)

B) ®.9. K Cy " As Gy

C) @, ga K(s) C(S)’ A(S)’ Q(Z)

D) ®,¢.K,C,7A,, G,

5
36. The correct floral formula of soybean is

A) %, 9. K CppnAg G

1+2)+2" “(9)+1° —1

B) %, 9, K., C, 10 Ay, G

1+2)+2° © “(9)+1° —1

€) %, 9. Ky Crzion Ayrs G

14242y © 7(9)+1° =1

D) %, . K, s Ay G

142+(2)* “ Mo+(1)’ =1
G mulmLTeofledr (Soybean) FIflWIMeIT LDEVT &S TLD

A) %, $. K oA s G

14242 X(9)+1° =1

B) %, ¢, K, C,., ., A, ., G

1+2)+2° “ *9)+1° =1

) %, . K5y Croarop Agyrs G

142+(2)> £ XO)+1° =1

D) %, ¢, K, C,r.00 Agury G

142+(2)° “ro+(1)? =1

37. Consider the following four statements

1. In vexillary aestivation, the large posterior petal is
called — standard, two lateral ones are wings and
two small anterior petals are termed keel

ii. The floral formula for Liliaceae is
%5 g" P3+39 A Q(3)

3+32
iii. In pea flower the stamens are Monadelphous
iv. The floral formula for Solanaceae is

®. K(3)’ C(3)’ A(4)’ Q(Z)

The correct statements are
A)1iand iii
C) ii and iii

B)iandii

D) iii and iv
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ECH Q&TOHSHHLILLG6Temeummley  Frfluimeot
FaMHMIGETeTr ellemLemnl CHFTHAS®M.

. @MBIGSHWe @& wannale) 9 FaCHTeHR W
Quflwu 26V6ed Q&MIQUIEVEY eTedTMID, @) Tevor(h)
UGEHUTLH  VelsmeT FImaseved  eTedTmilD,
Fe aew®Bw @reor( Sl eLedseT
LIL &6069] 6TedTMILD ]88 LILIGILD.

1. 696N GG UI6IT L6V G & T T

%, ¢, P, A G

3430 ==(3)

N Ul Lmeoofll  smeuy  eviflev
&I HSSHSTET &MTevor LIS M.

V. QFmeumGer &I UI6dT LDEVT G5 S LD
. K5, Cip Ay G

RGEIOEI)

@y

FWIMeT Go D 0IG 60T

A) | LMoy il B) | LnmiLh 11

Q) Il LHmiLd 1l D) Il Lo oyLh IV

38. The following diagram is cross section of
Overy of Allium cepa. In this identify the parts
I, IT and III.

| 11 II1

A) Ovule Locule Carpel

B) Ovule Carpel Locule

C) Locule Ovule Carpel

D) Locule Carpel Ovule
BCLY QHTHESLILIL (H6TeT 2]6Ve0l WD ELIT STeur
GhemuuleT (&.Q6U.CGHTMMID)  LIMEMHIGN6T
GH600TL_ M 5.
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| I 1]
A) &6V GV MM GFHVSH @)60I6V
B) &6V GH6VSEH @MV (FH6VSH MM
0 G6L& M &6V G&H6VSH @)60I6V

D) @&6V&H MM 6V ©)60I6V &6V
39. Match the following
a. Arachis hypogea 1. Raticide plant
b. Solanum trilobatum ii. Ornamental plant
c. Urginea indica iii. Oil plant

d. Gloriosa superba iv. Medicinal plant

a b c d

A) i i il v
B) iii v i i
C) i il 1 v
D) iv i il i

BLD5600TLaUMen MLl QIUITIHES S 5.

a. 3T TE&H 6
M LICUTSIWIT — i. 6160 Q& M6LeIE SMalFLd

b. Q&FmeVITEOTLD

LemgGeumGLIL_L LD — ii. S|VBIGH TS SMTaUTLD
c. 26 [7e3 60| ULIIT @) 600TL9.8 T — iii. 6T600T G 600T U155
STeUTLD

d. &Cemml@GWImenIT @&LILFUIT — iv. DS SI6U5

SMTaITLD
a b C d
A) i ii iii iv
B) i iv i i
C i iii i iv
D) v ii iii i

40. Which of the following is the highest level or
rank of the classification

A) Genus B) species

C) Division D) Kingdom



Glpseorl  elem&sIUTL(BIL  UIgBlemeussertlev
2 Wb LY Blenev 615

A) Gurfleorid B) A\mnjleoTLd

0 Ufley D) QU@L 6y

41. Read the following statements

1. Botanical nomenclature is dependent of Zoological
and bacteriological nomenclature

i1. Latin diagnosis or description is not mandatory
and permits the use of English or Latin for the
publication of a new name (Art — 39)

iii. International Botanical congress is held at
different places every 6 years

iv. 19th International Botanical congress was held in
Shenzhen in China in 2017

In the above how many statements are incorrect

A)i B) ii C) iii D) iv
BLHEOTL  FaMHMIGHm6eT LIS, Speter
afleormallm@& ellemLwierfl& &6 0

i. sTeugallwiey QUWT &L B\ wenm, el6euslE a6
oohmin urseflunseflar  Quwflhgev
(DM HEETEF FITTHSI6TETS.

i.@m USHW Quwifler eleTéHsHsD  3eVeVSI
alenTwenm @evsHer Qomd L GILN6LeVNSI
LBIH VST ILN Qeuerflull | DING)
eafla@mgl. (FLL alH - 39)

ii. UedTeormL()  Smeugedlulev

UL & EHSHS RHUMM
@ LmIG6fl6L Ga(H S M.

FLLEGW 6
Qeu6UGaum

iv. 19-augl Letteorm_ () Smeuyailulev Lommm@EH 2017
D aLevor(h Feormellel QaMedTEIE60T  6TEdTM
@LSH 6 B QUMM

GLMSE0ITL. FoMHMIGETIEL HEUMTET o M8 6r 16T

6T600T 6001 1 556008 618555 60)60T?

A) i B) ii Q) iii D) iv

42. Given below are two statements:

Statement | : Plants contain two cotyledons in their
seed, leaves with reticulate venation, tap root system
and tetramerous or pentamerous flowers coming
under the class Dicotyledonae

Statement II: Dicotyledonae includes three sub
classes—Thalami florae, Disciflorae and Calyciflorae.

It the above statements choose the correct answer
from the options given below.

A) Both statement I and statement II are correct
B) Both statement I and statement II are incorrect
C) Statementlis correctbut statement ITis incorrect

D) Statement [ is incorrect but statement II is
correct

BHCLD @ T600T(H T MMIGHET Q& T(H &8 LILIL (H 6ITEIT60T.

FnMHMI | N6t & & 6iT @\ revor(h)
aflen & Wilemev & em e LD, @) M6V S 6T
aUem VLI 60T6TEL B DLIENLOEMEUW]LD,
31,6001 1CaUTE QMG LIemLIWL|LD, I5IT60T (S

VLGl WHG SIBIGT QMG LILemeoTw LD
Q&TeooT(h6Tem SHMeUTmBI&H6T @) allensuileneus
& IT6) T 161 & 611 66T (UL - 1) GG
UeM&SLILIMGSLILIL;(H 6IT6T6oT.

Famm I @) N 605 U 601605 S TEU T B G 61T,
LL& & 6ME & WL (HeuTdlsLCermCry), e &L (&
G (19BN &L GTTEN), G&MUemL  allgel
LL5 5618 & (RLOLD (STeOF) & L|CerTmGIT) 6T60T eLn6oTMI
Sl60600T 6UGLILSem &L LNiflgas UL (heTereor.

GLOSVIETET S MMIGETI6L FIfIWITET FnMMI 6T&I 6T60T
CaIHESH &S0

A) ool I DMMID Sl Il @ Fevor(Ld &ifl

B) & MMl | LDOMILD Fn DI 1| @Tetor(HILD &eumi

Q) Fammi | &ifl QLETTTeL FnMMI || H6umI

D) e MMl | H6UMI 2L60TTV Fon MM |1 &Fif]
43. The method of classifying organisms into

monophyletic group of a common ancestor based
on shared apomorphic characters is called

A) Chemotaxonomy

B) Karyotaxonomy

C) DNA Barcoding

D) Cladistics
QualialmeT ensemSWHLOmhE QuUMUILILL
RETMI VLS FMEGSG GMmUL L, SeoflliuLl L,
560115 SI6ULDTEOT LIGTOTL|S6M6T 31Q LILID L UIMTEE

Q&HMEOITL. GHWHEHET D6VEVG! L ITEENVIT60TE: 66T
AMGLILGSGS 2 56 D (LNeOM

A) GauHH (e m eUem & LILIM(H

B) G&flGWImLm&ervmeor Lol
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C) DNA aufls@mMIul(H &6V

D) & emeruiflnmevorailulev

44. In the following statement pick out the correct
order

A) Plant collection — Documentation Of filed
site data — Preparation of plants Specimen —
Mounting herbarium specimen

B) Preparation of plant specimen — plant
collection — Documentation of field site data
— Mounting herbarium specimen

C) Plant collection — Preparation of plant
Specimen — Mounting herbarium specimen
— Documentation of field site data

D) Preparation of plant specimen — Plant
collection — Mounting herbarium Specimen
— Documentation of field site data

G LD 85556007 L_6) (1 M1 61T Frflwmeor G MMM
&600T(H1LI19 & 86 LD

A) &TeUyLD GF5fl5H 560 — HeNSH 6V

AuUpBsemens CosiflsH S 21,601600TLl

UBHS&ISH — ey LAGHF WSS

— smaly THflsemer 2 s mealT el (h&
Smerflev el (H &6V

B)gsmauy WM&l  swrflsHsHe — Fmeurn
Cralflgsen — HTSH elLITHIGeTs
Craflga alamiuhSHGH0 — Sely
G fleemer 2 euismaly el Bhs Smerfley
RLHIS6V

O smaurlh Crsflssey — Sy  WrH il
SWriflgs60 smeuy  rHiflesener
2 ugmaly eL0& srale @LHs60
— HasHe elurhisamers  GFsflgal
24,61 600T LILI (D & &1 &6V

—

D) smeuy WKl swumflgzse — HTeurLD
CF&Iflg 560 smauy e fleemer
2 gy eL0s srald el H& e
— HaEH  urhisamers  CFsflgal
2,61 600T LI (D & S &6V

—

45. Select the correctly matched pair.

A) Linnaeus — Genera plantarum

B) Artur Cronquist — The evolution and
classification of flowering
plants
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C) Engler and prantl — Origin of species

D) Bentham and Hooker — species plantarum

() 60)600T60) L

Fflumes QUITIHHS W 6iTerr

CaHIBOSMH:
A) 60160T GeuTLLIEN — Q8260fl T LI6ITT6uoT LT LD
B) 4TS
G ymer&HellervL. — L&D &meumigerfleor
Lifllomesor b LoMmiLD
e & LILIM(H
Q) eTMmIeT LnMMILD
LNy medrigev — Amnileotmisserflesr G mmmLD

D) QUBSLD
MHMILD NS &I — eVLTEI6rv L6 mesoT LTy LD

BIOLOGY (ZOOLOGY) Q.No. 46 to 60

46. A young infant may be feeding entirely on
mother’s milk which is white in colour but
the stools which the infant passes out is quite
yellowish. What is this yellow colour due to?

A) Pancreatic juice poured into duodenum
B) Bile pigments passed through bile juice
C) Intestinal juice

D) Undigested milk protein casein

@) @6TIGLPHMS LNMMISVILD G 6)6s0T60)LO U T6oT
STULITM BOES UBRMS  LETTe
916G LPHMS GleuerflGuIM MmILD LOGVLDITEITS! L0 6h & 6T
BIOLTS 26T6M5. @QbS WEFE BHINSHDS
GITIT600TLD 6T6OT6OT?

A) & 60)600T L By (WeTH MG L6056V

HVEHELILIH IS TE

B)Ugs By eabwrs NS5 plouser
QeueflGWMmIaISTeY

0 @6 By
D) Q&Ffl&&sLILLTS LML LIS &G eor
47.If for some reason our goblet cells are non-
functional, this will adversely affect
A) production of somatostatin
B) secretion of sebum from the sebaceous glands

C) smooth movement of food down the small
intestine

D) maturation of sperms



Flev ST RIGETTEV GSHITLIEHL 6ULL6l ClF6VSH6IT
QFWGLLILITLD6V @ BLILISITEV @) &6meoT GLOMELDOMTS
LTS &R M

A) Q&ML CLMeNVGLIY6T 2 LGS

B) 6T600T G 600T LI (Q & G LIendl W 6h) SGyUwmev

&FIS&IUGILD ELLb
Q) MG L6 CHTEHEDR 2_6oTe ETMe HSI56V
D) ellib & w18 &6rfl 60T (NG T&F

48. A patient of diabetes mellitus excretes glucose in
urine even when he is kept in a carbohydrate free
diet. It is because

A) Fats are catabolised in adipose tissues to form
glucose

B) Amino acids are catabolised in kidney to form
glucose

C) Amino acids are discharged in blood stream
from liver

D) Glycogen from muscles is released in blood
stream.

Brfldley Grmwmef] el &TFGLMmamL Gl
IIVEVITH 2 6UTEUSHEMET 2 L Q&MeTEh  GLIMS!
AoBrflev  UFELILIQWITET (& 6EHECETem 6
QeueMGWmHmIS MM, 6JGl6vT6nf 16V

A) o119 L1GLImeN F\ &5 G 6ifl6v 2 aTerr
Q&MLILITETSI Flen &6 M m
S EH&HCHTENVMS LOMMHMLDEDL6UGIT6.

B) S\ b &5 & eV o _6iTer L0 Geor T
| 6VMBIGETTEOTS Fen g6 Mm
S EH&HCHMTENMS LOMMHMLOEDL6UGT6V.

Q) &veSTBHE WG  leVHIGH6T

@55 @ L5566 QaleflGummLUiLI(R e Te.

D) e &F&efef (g FPemend:CHTR60T @IHS
@l &5 60 QaeflGummLUiL(eusmev.

49. Which one of the following statements is true
regarding digestion and absorption of food in
humans?

A) Fructose and amino acids are absorbed through
intestinal mucosa with the help of carrier ions
like Na*

B) Oxyntic cells in our stomach secrete the
proenzyme pepsinogen

11

C) Chylomicrons are small lipoprotein particles
that are transported from intestine into blood
capillaries

D) About 60 % of starch is hydrolysed by salivary
amylase in our mouth

eflgisefley 2 eoote] Q&flomerd  WMMID
2 MEHha &6V QS ITL T LIMeT Lil6dT6l (HLD Sn M MG 6rfl6L
6Tgl Siflwimergl?

LM MILD 20 GeorIT
IO 6V MBIG 6T, &L6v B8 Tev) LD 55 61T 60T
eeulnms  Nat  uwesflsefler 2 galluimey
2_Mleh& 1L B S 6T 6.

A) Ng&GLmev

B)bL0&  @empllemuiuleveTer  oL&& 60T 5
QEFVEHET QULUISTIGETITRET  6T6edTM  (LDEIT
QBTH MW &HIE&EH M

Q) &BTEMLNG T TETSH6T  6TedTLIeme  Fnilwl

OIIGUTLGTITLLq 60T 15615 6/T, 2 6m6U
GLONBHa  QUEs  SHARHEDEHS
&L55 LM S meor.

D) Lo eumuilsyiererr o 10hBT
3|6mLG6Ven &L0My 60% LITENTF
BITOUGSSILOS DS

50. Which one of the following pairs of the kind of
cells and their secretion is correctly matched?

A) Sebaceous glands - a secretion that evaporates
for cooling

B) Kupffer cells -a  digestive enzyme that

hydrolyses nucleic acids

C) Alpha cells of Islets
of Langerhans - secretion that decreases blood
sugar level

D) Oxyntic cells - a secretion with pH between 2.0
and 3.0

Neteu@d @ emetorseley  6THS  6U6m & WIT6oT
QFLHEBLD SjeumMleT &ILL&EHLD  Frlums
QBB S U 6TerTeoT.

A) 6T600T @ 600T U (Q & GLIenSluerv)
UL — GeflFalliugsm&sTs: 9uLelWwmEL0D
Qb UL
B) LI Q&F6V86T — Blw, &6l
9| L0l6VBIS 6m 6T
BImrHUGsHs Q&b
@ Q&FFnmeT QBTH
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Q) VTG TAM T FL_(H & & 61t 60T
QLT QFVEHT — @QTSHS FISHEHN]
S| 6TEM6UE SN ME LD
GyUL
D) O,&F 60718 CF 6V &6
— pH (&j8l6v &M H6TEMLD)
2.0-3.0 2_6T6T ([ FTLILY

51. Assertion(A): Emulsification is necessary for the
digestion of fats.

Reason (R): After fats are emulsified, the action
of enzyme amylase gets significantly increased.

A) If both assertion and reason are true and reason
is the correct explanation of assertion

B) If both assertion and reason are true but reason
is not the correct explanation of assertion

C) If assertion is true but reason is false

D) If both assertion and reason are false.

Fahml (A):- Q&MWL sefer Q&iflnmearsSHmnE
LIMELLOLDED L6V S eUFIWILDTES LD

&TyevorD(R):- Q&TLOLILY LIT6VLD LD 6D L[5 &
Wme omwnCeev QBmHuler Q& wevLim
FH6ool 1 FLOMS H G lEH M

&Myevorid @ evor(hLD
FoDMIGHSEHTE0T & |l meoT

A &apml  LHOID
Fifl.  &MmyevorLd,
N6MT&: & L0MEG LD

B) MM WOMHMID SMTJeoord @ revor(d &y
QLETITEV STFEOOTLD, o M MG TEOT & If1ULIT60T
6l6md & L06v6v

Q) Gamm &ifl, STI6OTD &e6um!

D) 8o MM LDMMILD SITF600T D @) T6voT(h LD &6UmI

52. Match the following structures with their
respective location in organs:

Structures Location in organs
a. Crypts of Lieberkuhn — 1. Pancreas
b. Glisson’s Capsule — ii. Duodenum
c. Islets of Langerhans ~ — iii. Small intestine
d. Brunner’s glands — 1iv. Liver
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A) a- (iii), b - (ii), ¢ - (), d - (iv)
B) a- (iii), b - (i), ¢ - (i), d - (iv)
C) a- (i), b- (iv), ¢ - (i) d - (i)
D) a - (iii), b - (iv), ¢ (i), d - (ii)

QEMTH&SHLILIL(BH6TET  eMDLILISH6ET 606l
DB SIETET 2 MILIL|SEHL 60T QUITIHESHELD

S|eMLOLIL & 6T 3|60 L0TH Gl 66T
2_MmILIL|&6iT
a. OlUTEn6T QFGEHET — i. &60)600TWLILD
b. &\erflerverveofleor - i (TR MIG L6V
2 emMm (19 GWUITLq 60TLD)
C. 6LITMHRIS FEUD TEOT .
Y e ii. G L6
d. @ereorgenv &Ll — iv. S606560

A) a - (iii), b - (i), c - (i), d - (iv)
B) a - (iii), b - (i), c - (ii), d - (iv)
Q) a - (ii), b-(iv), ¢ - (I,) d - (iii)
D) a - (iii), b= (iv), c- (i), d - (ii)

53. What will happen if the secretion of parietal cells
of gastric glands is blocked with an inhibitor

A) Enterokinase will not be released from the
duodenal mucosa and so trypsinogen is not
converted to trypsin

B) Gastric juice will be deficient in chymosin
C) Gastric juice will be deficient in pepsinogen

D) In the absence of HCI secretion, inactive
pepsinogen is not converted into the active
enzyme pepsin

@ 6emLienL &Ll erfleor QLUIETL_L 6V
Q&Fev & 6rfl6oT &L & ([H &S\ LILIT60T 6V
ML QF UIUWILILILLIT6V 6T60T60T L5 (GL0?

A). (P 6EOTH MG L6V (19 GULITLY.60TLD)
GHMePLILIL VST 6O (BH S
6T60T L9 G 1T IT60) 8 G 60T61Y
QaueflulL_LiLLmssmev 19.fl116) Geor meg 60T
QS eormas LDMHOLILIL TSI
B) @emJLIemL Frmmlev 6 &GO M) 60T
&MU gOUGBILD



Q) @emgLlieml  smmlev
&eopUTh gHUGILD

QULIS GeoTITeg 60T

D) HCI &L @ 6veuTs Blemeuuiley Q& W6V TS
QLIS G6oT ITEQ 600 60T QEFwWeLI(HILD
QUGS TS LDMMHM G UIEVITSI.

54. Which of the following is the function of
enterogastrone?

A) It stimulates the secretion of digestive juices in
the stomach

B) It regulates the flow of bile
C) It inhibits the secretion of gastric juice

D) It stimulates the flow of pancreatic juice

L edTeumeueoTeumMley  6T6dTIq G mEGssenL_ Gy mevflesT
Lieoot] 6T&1?

A @engliemuuley  Q&flomer B &HI&HS
Sreor(hH S

B) Ugs B @L LS8 WhEUGSSH DS
Q) @emyLienl &Fmm &rLienl SHh&H Ml

D) &emeooT BT L L Gemng Smeoor(hH &S m Sl

55. Duodenum has characteristic Brunner’s gland
which secretes two hormones called
A) Prolactin, parathormone
B) Secretin, cholecystokinin

C) Enterocrinin, duocrinin

D) Gastrin, enterogastrone

1 CWIMIY6TTEHH6V (NETHMIGL V) SmevorILI(BILD
Lemeory &ILILN&GeTme &IH&LIUGILL @ revor(h
M GLOT60TE 6T

A) LIGIITeVITE1Q.60T, LIMITTSS T GLOT60T

B) Q& &If1L_19.60T, G5 Med & 6 GLTet & 60l 60T

Q) etedTL_19. Gy m& iflevfledr, 19 GulmE ifl 6ot 6T

D) G&senvL_ifl6dr, 6T60TIq. G M8 6L Gy medT
56. Which of the following pair is characterized by

swollen lips, thick pigmented skin of hands and
legs and irritability?
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A) Protein — Kwashiorkor
B) Thiamine — Beri-Beri

C) Iodine — Goiter

D) Nicotinamide — Pellagra

Nereu@ld @ emeoordefley afmGBw 2 F{H\&6T,
M&GH6T LDMHMILD 85MeL8 66V 3L T BIMLD G\ & Meor L
Gxmey WMHmID aflFFr R UM 61560
SV GO &6iT?

A). UJsLD - Gaumadlwmysy

B). 600 & Wi 60T - Quifl - Qur

Q). GuIITLq 60T - (LpeoT & (DG S5 H LTIV
(SITUWILI)

D). BlI&C&TIqeTemI () - QLIVEVE ST

57. Choose the wrong statement
A) Bile contains no enzymes
B) Goblet cells secrete mucus

C) Lipases and nucleases are not present in
pancreatic juice

D) Brunner’s glands are sub-mucosal glands

SEUMITET AMTHERUIGHMS CHTHGHH &HEHLD.

A) 155 H 6L QBTHG&ET @) 6vemev

B) G&HMLIML Qllged QFLEHET GoHMTemnLpemWIE

& 788\ 60T ) 60T

Q) semevorwd  Brflev  OlIGLIGVGET  LDMHMILD
Blw,seflGuegeT  GUMETm  QBTH &6
©)6LEm6L

D) Ledreorifledr &TLILNGB6T GaHmempGBLOLILIL 6V
FTLLNS6TTELD

58. Which of the following terms describe human
dentition
A) Thecodont, Diphyodont, Homodont
B) Pleurodont, Diphyodont, Heterodont
C) Pleurodont, Monophyodont, Homodont
D) Thecodont, Diphyodont, Heterodont
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L edTeu(BLD Q& MM & 6rfl 6 6TSI LD 60185 LIGL6VEm LD LIt LI
alaufl&EHma

A) G5B ITLITETL., 6060 LIGWITLTeoTL,
CammGLOMLTeoTL_
B) LeflGymLmedTL, 60 L6 LIGUITLITeOTL.,

@amL 19 G ITLMeoTL_

O) NeflI@ymLmeorL., GLmGeormemLIGUIMLITedTL,
CammGLOMLITeoTL.

D) $85C&TLITeTL, 60 L6 LIGUITLITeOTL.,

QamL 19 GIITLMeoTL
59. Assertion(A): Bile is essential for the digestion
of lipids

Reason(R): Bile juice contains enzymes bilirubin
and biliverdin

A) If both assertion and reason are true and reason
is the correct explanation of assertion

B) If both assertion and reason are true but reason
is not the correct explanation of assertion

C) If assertion is true but reason is false

D) If both assertion and reason are false
Famml  (A) o LD serfleT (@& mupLiL)
Qe flonars@nHe KSsHT <leu&wib

&rgeoord(R):  LI&sbBflev  NedemiNeor  mHmih
L169Q6uUT19.65T QIBTH & 6T 2_6T6meot

A) oMM, SMJeoorid @uevor(hn &ifl, &ITFevorid
FamMlMasmeor Fiflwimer elleme: &M@ LD

B) Sa MM, SMJeooTD @ Uevor(hd &Ifl, &TJeuoriD
FamMIM&meor &iflwimer elemg:&Lne6v6y

C) GaMMI &ifl QLEOTITEL &ITFE0OTLD FH6Uml
D). 8o MMI LDMMILD SITF6ooTLD @) TevoT(hLD &6Uml

Copyright @ THE ALCHEMIST CONSULTANCY

60. Angiotensinogen is a protein produced and
secreted by

A) Macula densa cells
B) Endothelial cells
C) Liver cells

D) Juxtaglomerular (JG) cells

U EHFICWTOLTFIGOTTRET  6T60TMH LTSHSHMS
2 MUSH Q&g

A) GLDE@6VIT QL6OTENVIT Q& 6V 86T
B) eTeuoT GLTH60 Ul Q1 &F 60L& 6T
Q) 5606576V QFBET

D) 61025 LT SETTLOHEVTT QF6VE 6T



